(R PE A LAt 5 O 22 TE AR PE BN D B 5%
NEROSELZENLE-BEEEEDEE - REFHOIEE
~ v IRF HADIRFEE M~
T - IR IERT - PEEEE Y - UTHE @ - Ty
CUNVERERE - BAURTIR) 2B BOHETT - DB ST - SR S R

(2 K] DEFEA TGRS T 5 & IERIEITE 7 ~ 9 [B T, FE SIS £ To
INHEY A 7 AT T 34.2 H CH ST MHEY A 7 VITEFITHL, AFIZRNWZ LD,
K[UESCHRERMOPELZZ T TWD I EBEZ LN,

QS5
NIRRT 2 B D BUCE S A, AR A 0 U 7o B R O R IR HI O RENL 2SR D BT

Wb, TITUNFHEDOY ¥ RF BN (7 MEER) ZNUFERY E STy, EIEE
MOLEEEICHAT T, ARIZT TRV vy AR EOMIERE LTHEIffESND, £2
T, VX RTF I G/PNERATRES L, IR Z B 52T 5,

(5 ]

2000 FIZHEA L7 REER RO 5 kA fAVH R o X —NO8E 7 A KRR 2
m, Z:2mT 2004 4F 10 A 14 BIZER L7z, AR CHEIEZ 5 ke/kk, N-P205-K20 % &5y
B CK 0. 2kg/BEA S L7z, 1BIIE 3, 9 AT & TN-P205-K20 % 15kg/10 a fiti /i L
7o IRAEGSTFE OB E Z BT > 72, INEFAEITERITV, B2 &R - R E
ZatoTo, WIED DIHERE £ CONEY 1 7 V%2R H7-9DIZ, 2010 4210 A5 2011
11 AE T3 C 2R/ HOERRE LT (K1),

[ oA 2]

1. WHEE—7 @ RO HZ L BT 200 B0 /BLL L 7r o 72, 2008 4705 2011
OO NFEJNER L T 5 43 Jo/81 /18 % M 2 72 ¥ — 213 2008 4T 8 7], 2009 4T 9
[l, 2010 4FC9E], 2011 T 7ETH-7= (M2),

2. WHEY A 7 v FEED DI F TOMMIT 34.2£8.6 H (n=134) Tho7z, J&
R A EFOL 513 34.8+£6.5 H (n=38), EFEDLAIX 25.5+2.7 H (n=52), #k
ZEOYGEIL 35. 7245 H (n=26), ZZFDLE1L46.8+6.9 H (n=18) L7201, ILFEY
A 7 VTEFICELS, AFIIR NPT,

3. WEOK T WEICHEEL 52 DK 1 & U CORY RE & USRS X OFBIRIR 2R
TR, IR R S L BB OBRE R LT (K3, 4), PHREREEZKRELTD L
D HERBAESCT Z ENNEEINCEH 5T 5 2 ENH NIRRT,

4. FL D EATREAER OIED DI E TOFELNHEYS A 7 113 34.2 HETH
DT ENHBMNII o T, Fiz, PURFHARE R O N R 40 /8B E B2 5 B
— 7 DEFENIFE T ~9 B THDHZ EDRHLNI o Tz, W X0 /INEFEA Chask b3
% EAEFEBALEN D S HLARRIL LAE R, IS A 7 V240 IR L TWDH Z &R LM
7podz, WHEYA 7 VIFHZICEL, AFBIZEWVWI ED, K[UBSLHERROMEL %
FTTWBHZEREZ LN,



, [
VY RFHARIEGRMOSEE (), B (Zed), K% Chd), W OF)

1
400
]
™~
= 300
>
&
BR
# 200 -
=
100 ~
0 .
08/1 09/1 10/1 11/1
2 T RF A ANKRERLFEO Tl bR L WE OB Z & OILEOHER
a) BT OREERTIHEARES 43 /108 (2008~2011 4R O FIIIUHEAR K
4.0 : 3 4.0 : 3 :
y = 0.0603x2 — 0. 1299x y = 4E-06x2 + 0.0042x
R* = 0.3538 R* = 0.9478
3.0 L 3.0 e
= ° = ,V///Q
= L E
~ AN
£2.0 £2.0
o I
= =
1.0 1.0
0.0 0.0
0.0 2.0 4.0 6.0 8.0 0 100 200 300 400 500
T RA () WHERSE (/8/ )
3 2007 6 2011 FFITERIT S 4 2007 D 2011 2B T D
DX RF I ANRERLFED DX RF A NRERMFED

I &P R E OB W & IR AR A oD B AR



